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Note : Before answering the questions, read carefully the instructions given on b
OMR sheet. e. "
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SECTION - 1 : MATHEMATICS (e3¢ =3>9:00)

1 The cardinal number of set 4={1,2,4} is

A={1.2,4] &3 5288 5765 vomg

Gy @2) 4 3) 2 @3

¥ a - . 2 W
2  The zeroes of quadratic polynomial x*—2x—8 is

—’?1-—8 a’}dma&'\mﬂi}m érmge.u

@4 (2) 2. @) 1,20 @) 1. -8

3 The HCF of 96 aud 72

06 ©bat 72 © K35 Jewd

©) B ; 24 (4) None (96 soc®)
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The value of log, Ve

lugeﬁ DeVD
1
(1) 0 | (2) 1 (3) e @_2_
log ,axlog,y=
(1) log,y @ log, a (3) loggx (4) lﬂgya

If A={1,2,3,4,5} and B={4,5.6} then 4ANB.

.A={l,,2*3,4.5} HBa B={4,5.6} oadS AN B BnE) dJend

(1) A (2) B @ {4.5} 4) {1.2.3}

If the angle of elevation of the sun is 60°, then the ratio of the height of a tree witl

its shadow 18

(r) 1:1 (2) 1:4/3 @ﬁ:l - (4) None of these
o O ' : ﬂu

28 Bew arthgdB Baxw B §%00 60° e Hoa ? . com 6O A8

~e=Www.sakshie
(1) 1:1 2) 13, 9 (318 (4) P8 =c> i
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11 Il onecard is drawn from a pack. then the probm
Mm@ﬁm?@amﬁmmmwu@mwt

]
l T — e
”12 @13 =1 (3)2

12 Trom the definition of Probability P(E) identify correct statement.
0Hed (5760 VOGS HARGRHO (HBOS0A.
(1) P(E)=- @ 0<P(E)<1  (3) P(E)zl (4) None (98 &)

13 The probability of getting 53 Fridays in a leap year is
2 I 3 ' o
@ = @) = @ (4) None of these

28 DY HodEYB0S* 53 H|Saroren Trde Doardgd

2 ] 3
(1) 7 (2). 7 (3) 5 (4) 8 2%

14 A bag contains 12 pencils, 3 sharpeners and 7 pens, then the probability of drawing
a pencil from the bag is

12 20380, 3 )9 oaxw 7 a0 Ko H0WS® 0B af WS waHLD Baie Jordgs
B .15 A 55 o
(1) 11 (2) 11 %) 11 11

15 For what value of 'a' 4. 6, a, 9, 10. 19 will 7.5 be the median ?

d @) O dews 4, 6, a, 9, 10, 19 o DegAdo 7.3 _
@6 ~ (2)Wpv-sakshieducgtiprzcom OR
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(4) 700

- 19 Which of the following is not a measure of central tendency ?

4 (1) Mean ‘ (2) Median (3) Range | (4) Mode
& 1808 o°dS° So(¢s 0 dewd 5238
(1) wiew @) wagnso - (3)wg (4) eraveso

20 If x° —3x?+4x+k is exactly divisible by x—2 then =

2
X =357 +4x+k H x—2 wDySor AodS k =

(1) 4 @—4 3) 0 4) 1

)
21 Solution nt‘1+i=l3 and -5--i=—2
Xy X1
2 53 e
“+==13 oot ———=-2 o it
X X . ¥
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28 &bgﬁwm 2x+3y =7 S0t (a+b)x+(2a- -b)y=21 o8 @ "'
(1) a=5p= e -
=-1] @a =5b=] 3) a=-1,b=5 (4) a=

ofequanon 2x+3y-7 and (a+b)x+(

- 1 ..

24 If the system of equation 3x-2y—7=0 and 6x+ky+11=0 has unique solut 1en
_,l x -
=8 WDSGErer 3x -2y~ 7=0 ook 6x+hy+11=0 0% IBE Fe5 dod |

(1) k=4 ) k4 (3) k=-4 (4) k=-4

1
-

25  tan85° tan65° tan45° tan 25° tan 5° —
1) 1 _
(1) 2) 0 3)i=1 (4) None of these

tan 85° tan 65“ tan45° tan 25° tan 5° =
@ I (2) 0 3) -1 (4) 98 oy

26 If sin18° =cosx then x=?

sin18% =cosx @an®d X Jewd Jos?

(1) 730 (2) 370 ‘ @720

Ml

27 J(secﬁ —1)(secB+1)
vy www.sakshieducation.com

(1) sec (@) tan® = (3) sing -,
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30

31

32

33

'-:n::l'2+a!1'2 "—"Ag:v2+4;|r2 (2) a2+bz=p2—q2'

B
’ B .

| . . :
-|_-|-',.-.i . .p"-.'l"-- --E . :":é-'..l 5 - .. " .
If acos®-+bsin6 = p

R : ‘ L e
acos®+bsin0 = p; asin®—bcosh=¢g wond & (80d ¢6° 26 I

@Y a*—b2=p2ig? @) a?-bP=pt-g’
If N Genn =
tana:;, ﬂﬂB—E then (ot+PB)=
| |

tant‘x:—f, tan 3 =§ wand (o+p)=

(1) 300 2) 60° @430 (4) 0°

The solution of 99x+101y =499 and 101x+99y = 501 is

99x+101y =499 Hoawm 101x+99y =501 o &S - ]
(HE(=3. ~2) @) 3,=2) (3) (=2:3) @(3... 2) :
The line x =35y passes through y

=23y B -==-m=mmme= oar eod.
(@)::(1,1) (2)5(2.3) @(0, 0) @) (1, 5)
Roots of x> +6x+5=0 are : ,ﬂi_

x> 4+6x+5=0 S8y HFEAN . sakshieducation.com | !ﬁ 2 A
@:,.3 2) -1,5 -1, =5 ORE.
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35 Discrim in: t of 2:62 6x+3 0 is:

.'":"F i I.

. B

}&*’ s =0 m@:@

() ﬁﬂ 12 (3) 36 4) 24

- 5
S |
r

36 x+7x+12= | | |
M (x+3)x-4) () (x+3)(x+4) @) (x-3)(x-1) () None (b=c)

37 If (P,2).(=3,4) and (7.-1) are collinear, then p =
(Pa 2)-.(—3,4) B (7:41) e BPoXDD 'P' @) Jewd

(1) -1 = @y o (3) =2 1 |

38 Centroid of a triangle divides each 1lledian in the ratio :
DS Solddn Degier) dsBoh A&

@2 @YD) 2 3) 1:3 @) 3:1

39 Slope of the line joining the points (4.-8),(5.-2)

(4,-8). (5.-2) Docrpoi 0 T By Fen

1
M (2) -6 ©)s @ -

40 If two triangles are similar such that ratio of their areas is 25 : 361, then find the ratio
of their corresponding medians |

it Bepene De~ o 25 361 EDJJE‘J 63 ODErD 55“'-53!% -am, 2D |
(1) 10 : 20 ‘ E shied U Iﬂn cnm )

19 '(‘4& :-. Y ::'4'.
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? 206" Shae > 3x+12°, 5x—6° ®daty x+3ﬂ
( é&gﬁ (2) 59 (3) 79°

lﬁﬂ‘ term of A.F’.l 5 ST R S - |
S. 1, =3, —7...... ©08 #36° 10 5 acin i 54 ghe
."3‘ (2) 31 3) =27 4) -35 )
44 Which term of the AP 20 518 915 is =30 ? ‘
DISIS 15,00 08 [#86° —30 Joys csitn? &
(1) 16 @13 (3) 17 4) 19
45 In A.P. sum of n terms, S, =
©o¥ R3S* S, =
@ [2a+(n l ] ‘ (2) %[a+(n-—l)d]
3) —[2a+(n-1) ] (4) None (26 )
, a
46 If a,b,c are in GP., then 'E;=

ab.c e GP. & o), ~ =

(0 . 73 g = TR : B b
" (2) Jwww.sakshieduckdion-com @) =
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| maﬁw '“1-3‘-“" n tang
' aa;,_wﬂum hnmm?

W "z 3) 4

- In the figure, area of the segment P4Q is $q. units.
*E_:maw‘ PAQ &g 3wrogin 3. Qe

(1) —11:+2 @—-(n 2) (3) E‘{-(nwl)

50

In the above figure if PT = 6 cm, PA = 3 cm then AB equals to
Dowiws® PT = 6 cm 6o PA = 3 cm wond AB am‘..':

IH Ei D @’BV\EWSEIKShIEdU?%IO{I s




Total surface area of a hemisphere is

©f Fido Q) vordse Drrego | | | h.

(1) 2nr? @3”2 ) axr @) nr?

33  If the radius of base of a cylinder‘ is doubled and the height remains unchanged. ther
its curved surface area is | |

(1) double (2) three times (3) four times (4) No change
28 Q00 QNS JgIeoe) Tedoy 3, od 2 SrdyHoa $oB ord HEde _ﬁrﬂgoﬁ‘ e

@ 2 54n @) 3 pa (3) 4 B&> (4) Srcoy oo

54 If a right-angled triangle is revolved about its hypotenuse then it will form a
(1) S'phere: (2) Cube Cnne: (4) Cylinder
&8 ooa) §'n (Bzherd) ord o Horr (Feo FY 6B es G

(1) Ho (2) s (3) dowd (4) o

55 In an isosceles triangle ABC with AC=BC if AB* =2AC? then £C

ABC o 28 & gerin (@ebaiane® AC=BC Hdato AB* = 2AC2 wawd £C

www.sakshieducation.com 5
(1) 307 90° (3) 45° (4) 60
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60

. AQ% + C’P2 = AC? + PQZ
~In AABC the sides are 6, 10 and & then A ABC is

(1) Right-angled triangle (2) Acute angled triangle
(3) Obtuse angled triangle (4) None
10, 8 0.5, Soden @mm a9y AABC o8 (@zheidn 0
08 (BaHeo | - (2) woF'm @zbeo
(3) o068 o 8ahao (4) 96 s

From the given figure valﬁe of op is

Bod Hd 208 Op ) R0.D.en a)6

@5 2) 4 (3) 8 (4) 3

B
The angle between a tangent to a circle and the radius at the point of contact4s

Fo o ¥

&8 H)Bo argror8 oo )68 96 Doth H6 S0 ;

s |
(1) 60° (2) 30° (3) 45° QEa

If two circles touch each other internally, then how many common tangen

drawn ?

Bodh Syaren ©oSEom )BI0DLDPE Aanre &8 K6 0Re ‘&‘;om
1) 5 | 2) .s%l@hleduc?g?rb%om b |
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65

Ly :.,'_'I X '..._ g T
13 ey r-_ Y
H . g B .
B e . ,’f : 'l* ~Or *E?- ol lens
Ir 4 -'- 1 '] I- |I|--"": | |. ': ( i '.I-'_' | ¢ "h'-l"..t: - .

"‘T“"-'F_ = _..l',
.
Ll

go&3 & -“’\ %M@%& ﬁr&gﬁ:‘é PWTE), .-.....'..wﬁ:.
(2) s0&d

The angle of incidence at which a light ray does not undergo refraction

Q) D8 St H6 5708 8w HBLSN Bod?
@) 0° (2) 30° (3) 45° @ 90°

The distance between the eye lens and the retina for healthy eye

©B% g8 BE) §)8° S8, BETH Dy Krdo

(1) <25cm 62) >2.5cm =25cm (4) None (D8 s*)
Hypermetropia can be corrected using lens.

(1) Concave (2) Convex (3) Bifocal (4) None
EPEEYRD -=--==mee EEH0E HOVANH Y.

(1) perss @ Kogrs s (3) oy aragoss - (4) 6 2o

How many times does the light ray refracts when it passes through a prism ?

2 5208 Bt B0 (Do [HoXrBoDIPd> ) e HSHH Both&on?
(N 1 @q.sakshieducatig‘,.cpm 4) 4

= m=— —— =

—. ==
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(1) Convex (2) Plane (3) Concave (4) None IE .

08 Bchogchy iAo Gy ‘ i

(1) Sowrsg 2) sse @Wu 4) bwe ke
68  Diminished image is formed with a concave mirror when the object is placed

(1) at focus (2) at centre of curvature

(3) between pole and focus (4) beyond centre of curvature

QLS8 G6)208° DB (800 Poarerod V)t EEEEE R 55 soaed.

(1) =d ¢ (2) Hger Sosn &

(3) Sysm Dbaty wde Deg .::LQE So|can wde

69 A straight line passes through the centre of curvature and pole of the convex mirror

is called
(1) Parallel axis (2) Perpendicular axis
(3) Principal axis (4) None

$0grse6 SO)ein @y H)E So|dhn DBk FySine aeor ek weBam

(1) H5roess e 2
8 WWW. sakshledu(cgtlon.c%ﬁ

@. B0 w8 (4) 58 s
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71 The reason for rainbow is

(1) Refraction (2) Dispersion ey
(3) Total Internal Reflection (4) All the above .' _
F0(65 S DEYEED STERE0. | ..I
(1) et (2) S

'''''''' . _ & N =
_ ™ e SR |
e .-.lr-,:;‘P;"' 1
™ " [ I\:".'I' - . h
Lo GRS TS
by ¥ P o i

(3) SoRrgoss HomBEEY . -:.lg,bl

If more water molecules are present in the atmosphere the sky looks

(1) Blue (2) Red (3) White (4) Black
o smodt 68 ey g S Bl @EE------Corbe® EREPoD. |
(1) $oo @) %8 (0)2e (4) sevid>

The cause for the movement of electrons in orderly motion inside a-conductor is due

to

(1) Resistance

(2) Battery (3) Lattice (4) Positive 10ns

Trgand® Jogrgven R B#S® SB0arI8 B StEE?

(1) B¢ (2) erged @‘ﬁ (4) &S vardw
The S.I. unit of electric current 1S
(1) Coulomb @ Ampere  (3) Volt (4) Ohm

iogB (e Gngy S.1. e
(1) &renos ) ¥sgkshieducatid).co (4) &5
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00 ' 36 88%)5 58085 Jawiard) aad@rAoD ¥ — X =

(1) 20 (2) 10 @3 ;

/

Within the solenoid magnetic lines of forces..........

(1) Pass from South pole to North pole
(2) Pass.ﬁrum North Pole to South Pole
(3) North to South and South to North
(4) Dnes not pass

FOTond &% ©OH) 08 TP

@éﬁm $)e0 wod &S 60 T (DSerraw.

(2) 86 ¢5yHo od 88w §ydo B (Sirraw.

(3) G860 £08 S8 DB 5§mo od SIS

(4) oden (HHrouY).

When a current passes through a straight conductor, magnetic field surrounding cnnducm

will be

(1) straight lines  (2) parabola @clnsed circles  (4) hyperbola
28 85)D TSy Home S (BHrDB)DPE), B° W& JEYB VNI 0 Flédn

(1) sootees  (2) SNARENICIUORIONGED sy (4) wa ersmonin

oL

Applying Kirchoff current law to Junction 'C" the value‘;uf Y—




JI .‘.;’.-'f;f
O g | (2) ‘at cefitre OF CHEVSESS

A

ﬁf an object placed at mﬁmty before a convex

jl

(3) at infinity (4) None of the above
$02576 S50 D08 ©H0d (rEos® GoDd Y By EBDowHN 88 D6 &007

@ﬂ-%g | (2) Y$o Soddw ¥
®Hod Srdos® (4) D 5P

The power of a lens is

688 @nsy FHETHN

1 | - 100 " 1000 100
(1) D= @9: G) D= 4) D=—
f;:m f;:m fr:m m

Which of the following is correct equation ?

& B0B Te3S° HOTD e EGea

. (A+D} ( A—D)
Sin S1n
2 v 2

.@ﬂz sin% g sinfy2

oA+ D
‘ sm( 5 ) sin A D
Sl — www.sakshieducation.com sin A
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Electromagnetic induction (4) Ohm

R T

[ i1

: _”__ _ ’ mx&
6 wag

In electric motor. citrent direction in coil is chunged by

(1) Two magnets (2) dwo slip rings
(3) One Brush one Slip ring (4) None |
VFE FreBS® 8 ey rhoae (H5roD Agh BFw wrE)6

(1) Both eaney osrex @-Ecd: 25 dofiex
(3) o8 @5 28 35 60k (4) 28 s

When a current carrying straight conductor of length 2 m, moves perpendicular to
magnetic induction field strength of 2 Tesla with velocity 10 m/s, find e.m.f., induced

in volis.

2m 6D deo g8 (DDH) a8 89) Trsan 2 B ©oHI 08 F|& BHSH oo i
10 m/s o8 Shendhs), (@0 AT YO8 WOt ) deven? |
(1) 4000 (2) 1000 @400 (4) 40

Security Checking Alarm works on which principle ?

(1) Newton (2) Lenz

’
D P80 BErEnd Ergdel BE verdin ) Bno?

(1) &rgesS  (2) Bo&
A www.sakshieducation.com
(3) DGy 08 ([XSed | 4) &5
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(1) 208 (2) on

.
88  Current always prefers to pass through
(1) Low resistance ; (2) High resistance
:’(3} High (or) low resistance - (4) None
B0ty SRIRRCORe St oo oo <o Srgan o FHards aHHEE00?
@ S5 B KW (2) %5 85w |
(3) 07 Bar S8y e (4) 28 =

89 A wire having 10 ohm resistance cut into four parts each of equal length. The resistanc
of each part of wire is ohm. | ‘

10 45 d6°Ehn o 2.8 KD Trenth HErd PEHenrr 58000, 28 &) 20w SSAVE S 8% sdn-

(1) 40 (2) 14 @ 2.5 " C(a)ie

90 10 resistors each having 100 ohm resistance are connected in parallel. Find
resistance in ohm. -

28 5¢ 100 &De IB°¢an Jewd Ko 10 ered Harodormr SO1S, DO B Fa-===nnn ~-eed
(1) 1000 (2) 1ww.sakshiedudatidfcom 10
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T - - Bt E L
i + Hie Iollowing is smallest size cation ?
T ERT e, J
g o DALY B | = :
i ¥ f{FH;‘- Rt e L - w& tm #M aa?
[ ‘ : i

- e i
D (2) K* (3) Mg?* ' A'm

| ::F: _&!-J“Df)hereiner's tt:iad, the atomic weight of fi
pectively. What is the atomic weight of mid

§ o
l:.".:.l

+

rst and third elements are '7' and '39'
dle element ?

28 28585 : -
(B82S Fnises Surero DB Lirdd fureso HSHrm roren HHde 7' ©Ba%: 39",
W Dredo AWE. O8I 280 Joes?

(1) 14 | '
2) 20 @23 4) 46

9 ich o wing i '
. Wh-tch of the following is called as electron deficient molecule’ 2

(1) BF, (2) CH, (3) H,0 (4) NH,

95 Quick lime + water N
The chemical formula of the product 'X' is

A oo+ dH 1y

(Basresiigo 1y A Erand FosdKo ()

(1) CacCl .
| z %) Cfbw.sakshiedleatomeam, (1) caco,
e

g-p.dpn il T ™% v e e
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55
3) &= m;a @ ©
0" ;_ %.-Iﬁ!-_ ' ! - LA Iy!
97 In the below equation, the values of 'x' and 'y' are :

{M&M X' Hdaw 'y Gy Dendew :

C3‘H3 +'X'01—“}'y‘;CO2 +4I—{_20
(1) 5,6 (@) 5.3 3) 3,5 (4) 6.5

98  Which one of the following is not a base ?

@HCOOH (2) NaOH (3) KOH (4) Mg(OH),

99 When a metal carbonate reacts with acid. the products are

(1) Salt+ H;0" Salt + H,O+CO»,
a 3 i =

(3) Salt + Hj (4) Salt + H,O+H>

& 5‘5")3;‘» HéﬂJ"QJ@a 6T oI P& i)t‘.i;}é:}

(1) edeo+ H;0" (2) odo + HyO+CO,

(3) oswo + Hs (4) o%wo + HyO+H,
100 Covalent bond is absent in

Laoa 96 Hvd@redah 2060 B vY?
(1) H,0 (wwCsakshieducdfion. bond)




102 The und angle in BeCl, molecule is - =
“BeClz MO 2068 S0 | -

(1) 109 28’ (2) 1200 @13‘00

103 An example for polar covalent bond is
BT & S Breday VORI G

(1) H-H @H—Cl | (3) CI-C (4) F-F

104 Which one of the following is correct statement in case of covalent compounds ?

(1) These are crystalline solids (2) These are soluble in non-polar solvents
(3) Their reactions are very fast (4) They have high m.p. and b.p.

D Brredaw D) ¥re Do (808 3°IS" A8 OBHB?

(1) =3 D)EE & Saegren @ED 08 (rdered® s,

(3) 3 S6gen ©8 S axdrrmras. (4) D38 (¢5Desi5, amdyyasss P DD,

105 Froth floatation method is used for

(1) Reduction of metal oxide (2) Concentration of ore |
(3) Extraction of metal (4) Purification of metal |
SO0 (DB BIS GHDrAYG? |
(1) &% &B8y8 ganssmo @ P& Fo|dssmo |
(3) & do|sireo (4) & HO

106 On mixing with water, plaster of paris turns into
B SO 96 6 05 BT Srchdr0n?

1 "
(1) CuSO,, SHZO@ CaSOL 20 3y cusy ) Caso,, Lo

3 } i --\_.:.

BT b TN e e e s N
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lues ?or the electron in '2p' subshell are
2p' e é‘«'ﬁ DOFIS Ay 'n' Dok ' Devden

2)n=1,1=0 @n=2,!='l (4) n= -*

109 Which element has the electronic configuration 152 252 2p6 352 3p5 ? =
95 Argo 157 252 2p6 352 3pS o 4od Barerso 982

(1) Si (2) S (3) P | ICl . e

110 The maximum number of electrons in a

subshell is given by
&8 BEE608" ¢0d (B JosTome DopgD BODA

(1), 2(21+1) 2 +] (3) n+! (4) 202

111 The Ionization energy of Beryllium is more than that of Boron., beéause Beryllium has-
(1) more nuclear charge

(2) less screening effect

(3) more penetration power of '2s' than "2p'

(4) more atomic radius

B0Dao LanESm 48 50°6 K08 L) 5. doch & BODoKo Ty
(1) %75 Boiss eBio

(2) 875 %9908 $dso

- WWW. sé.a(shleducatlnn com G-
(B g st srprgo
1
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113 The process of conversion of starches and sugg ars

i

3 TN |n ‘Estenﬁcatmn R () Sap'- i -
’ :(3“) Dehydration 4) Fermentation , S

208 DErgren B 8y S0k aPS ve) S &8y (8o
(1) XBsse (2) JRFARISHS
(3) 8-3@sS ams 8aw

114 Which of the following is not a conductor of electricity ?

-

(1) Nanotubes (2) Graphene (3) Diamond (4) Graphite

& 1808 S5 DI IPEA 52

(1) =8 ergever  (2) (8 @a‘m 4) s
115 Aluminium is extracted from which of the following ores ?

(1) Haematite (2) Bauxite (3) Cinnabar (4) Lime stone

(808 dS° 26 werrgbdaso A Geath SHBrAOT P T&PH)?

(1) 223 @w@g&ﬁ (3) ddyeraw (4) ¥ Horaw
116 Which of the following methods is used for the purification of metal ?

(1) Magnetic separation (2) Roasting

(3) Calcination (4) Poling
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117 Number of unhybridized p orbitals around each carbon in C,H, molecule is
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119 ‘?ﬂ'ﬁ-‘ formula of Chloroform 1S
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120 Which of the following is a Saturated Hydrocarbon ?
(4) Propane

(1) Cyclopropenc (2) Propene (3) Propyne
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